SRR T
ORNLINE

FOWER
O AdAE

Precision Air Slide Table

Series MXP

26, 910, 912, 16

p Size g6 (with stroke adjuster and auto switches) and
shock absorber introduced to series MXP

FPOWYER
O AlrE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.coastpneumatics.com/americansmc/MXP/4_MXP8_Series_Air_Slide_Tables.pdf
http://www.coastpneumatics.com/americansmc/MXP/4_MXP8_Series_Air_Slide_Tables.pdf

Cylind

er built into a linear g

FOWER
O AdAtg

ul

/ 4

High rigidity
and high precision

Constructed with cylinder
built into the linear guide rail.
Martensitic stainless steel
used for the body and guide
block.

90 100 110

Stroke adjuster

lable: Rubber

hree types avai
stopper, Metal s

hock-absorber
SNO0CKapsSoroel

nd

opper &

Shown with shock absorber

i

"

100

Is and magnets are

110

Highly flexible
methods

can be selected,

piping

side and axial.

Also available without switch rails and
magnets.

SIEndard equipment.

120

Shown without switch rails-and magnets

130

140

150

160

0y —

Work piece mounting taps

nghly flexible mountmg Can be mounted from three directions.

1. Using table top taps | 2. Using table side taps 1. Using tapped holes| 2. Using through holes | 3. Using side tapped holes
& IR |’_||-|
r —| Note) L@l & 3 iy /i\ N Blle o
Side mounting is not possible with Note) Side mounting is not
shock absorber and for MXP6. possible for MXP6.
Features 1 -
POWER ORDER
O A= ORNLINE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

FOWER
O AdAtg

Compact precision air slide table
" Traveling parallelismE! 0.004mm

0

10

20

30

40

50

60

Parallelism: 0.02mm

[Refer to page 4 for details on traveling parallelism.

New

variations

* Numerous auto switch

available

Capable of mounting reed switches, solid state switches

and 2 color indicati

on solid state switches.

Now available with auto switches and stroke adjuster!

10 20 30 40 50 60 70

80 90 100 410 120

130 140 150

160

170 180

Auto switch capable

6

>
. 'I‘n,:‘_,.,-
=

®n

i
W

:‘-_'\.
-

—

: 100%0

«Stroke

* Rubber
availab

ent ran
rand m

adjustm

stoppe
e

je 0 to 5mm
etal stopper

Stroke (mm) Stroke adjuster Auto
Series 510/15/20(25/30 Do | e PEEIAN  switch
=N |y
ol MXP 6 e as J Ve v
MXP10| - - — o 4
| |
MXP12 9——9 S . .’
MXP16 P—— ——9—— 9
| |
[ |
W :-----------------.
. [ |
With shock absorber ¥
MXPIS Loy
rubber stopper 2 g -
o

“‘.‘ﬁ

w Stable stopping accuracy with

integrated construction of the guide
block and the shock absorber's bumper.

Smaller size achieved with cylinder
built into the guide block of the linear
guide. Martensitic stainless steel used
for the body and table.

Reduced size: H17 x w20 |l Highly flexible piping methods

Two types can be selected

, side and axial.

ORDER
ORNLINE

POWER
O AdRiE

Features 2


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

FOWVYER ORDER
O AlrRE ONLINE

Precision
wisicell Series MXP
26, 910, 912, 316

How to Order

MXP [12H15 —FON|[S

Cylinder bore size — Standard stroke (mm)l Number of auto switches
6 5,10 Nil 2 pcs.
10 10, 20 S 1 pc.
12 15, 25 n " pes.
16 20, 30 OMXP6-5 with two auto switches applies to models
D-F90] and D-FOL1V only. In case of other auto
Adjuster option e switches, only 1 pc. (symbol: S) can be selected.
Symbol Adjuster option ¢ Type of auto switch
Nil Rubber stopper ‘ Nil ‘ Without auto switch ‘
B Shock absorber ® Auto switch
= Metal stopper Nil With magnet and rail

Q Note 1) Series MXP6 adjuster is on one side only. N Without magnet and rail
Note 2) Series MXP6 is not available with shock absorber.  fauto switches cannot be mounted on
Note 3) SUS304 is used for the metal stopper stroke adjustment screw.  type N without magnet and rail.
Refer to order made specifications on page 21 for heat treated
specifications.

Applicable auto switches/sefore using auto switches, refer to auto switch mounting precautions on page 20.

§1 Load voltage Auto switch models Iléﬁg?h i(rﬁ])
Special Electrical | & Wiring ’ P Applicable
Type e entry | S (output) e AC Electrical entry direction 05 3 loads
2 Perpendicular| In-line | (Nil) | (L)
No 5V, 12V [100V or less| A90V A90 [ ® |ICcircuit
26 1 2wire © | 2av Relay.
&‘é — Grommet Ves 12v 100V | A93V A93 [ [ ] — PLC
@ 3 wire (NPN equiv.)| — 5V — A6V A96 [ ] ® |ICcircuit| —
< 3 wire (NPN) FONV FON [ ] °
S — 3 wire (PNP) FOPV | FOP (.
2]
@ 2 wire FOBV F9B [ ] ® Relay
3 Grommet |Yes[—— 24v | 12v — — | pc
@ Diagnostic 3 wire (NPN) FONWV | FONW [ J (]
% indication 3 wire (PNP) FOPWV | FOPW [J °
» (2 color indicator) 2 wire FoBWV | FoBW ° °
OLead wire length symbols: 0.5m Nil (Example) A93
3M . L A93L =
MXP\] 6/Precision Air Slide Table g6
How to Order Specifications Theoretical Output
(N)
Precision Cylinder bore size (mm) @6 Cylinder | Piston |Operating pressure (MPa
MXPJ 6 1 10 Port size M3 %05 bore size| area | P (VP2
i X9. (mm) | (mm?) |0.2|0.3|0.4/0.5/0.6/0.7
Fluid Air 5 5
Action Double acting 8 618 |11]14]17]20
(@) ti
Standard stroke perating pressure 01510 0.7MPa .
=T o Proof pressure 1.05MPa Standard Strokes ~ Weights
Ambient and fluid temperature| —10 to 60°C
10 | 10mm - (mm) (9)
Operating speed range 50 to 500mm/s ’
Cushion Rubber bumper Model Standard Model |Body weight
Lubrication - strokes MXPJ6- 5| 80
OMXPJ6 is not available with auto kel h 1ol NOE lube
switches. Stroke length tolerance g mm MXPJ6 | 5,10 MXPJ6-10| 105
1 —

© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

ORDER
ORNILINE
MXP6
; g - -
MXP10
o
) g j
LY
MXP12
MXP16

With shock absorber

UA special body is used when equipped with
shock absorbers. Shock absorber specifications
cannot be changed by replacing or adding parts.

POWER

Precis

Specifications

ion Air slideTable Series MXP

Model MXP6 MXP10 MXP12 MXP16
Cylinder bore size (mm) 26 210 212 216
Port size M3 x 0.5 M5 x 0.8

Fluid Air

Action Double acting

Operating pressure

0.15to 0.7MPa

Proof pressure

1.05MPa

Ambient and fluid temperature

—10to 60°C

Operating speed range

50 to 500mm/s
(with metal stopper: 50 to 200mm/s)

Rubber bumper

Cushion Shock absorber (option, not available on MXP6)
None (with metal stopper)
Lubrication Non-lube

Stroke adjuster

Standard equipment (MXP6 adjustable on one side only)

Stroke

Rubber stopper {One side only, 0 to 5mm

Both ends, 0 to 3mm each

adjustment | Shock absorber

- Both ends, 0 to 5mm each

range Metal stopper

One side only, 0 to 6mm| Both.ends, 0 to 5mm each\

Both ends, 0 to 4mm each

Auto switches

Reed switches (2 wire, 3 wire)
Solid state switches (2 wire, 3 wire)
2 color indication solid state switches (2 wire, 3 wire)

Stroke length tolerance

+1
o mm

Theoretical Output

(N)

Cylinder bore size | Piston area Operating pressure (MPa)
(mm) (mm?) 0.2 0.3 0.4 05 0.6 0.7
6 28 6 8 11 14 17 20
10 79 16 24 32 40 47 55
12 113 23 34 45 57 68 79
16 201 40 60 80 101 121 141
Standard Strokes mm) Weights ©
Model |Standard strokes Model Body weight | Additional weight of magnet & rail
MXP 6 5,10 MXP 6- 5 80 10
VX0 | 10,20 VXPT0-10 | 120 3
iXP12 15,25 MXP10-20 | 210 20
@XP16 20, 30 MXP12-15 | 210 17
MXP12-25 320 23
MXP16-20 640 20
MXP16-30 830 23
Shock Absorber Specifications
Shock absorber model RBO0805 RB0806
Applicable slide table MXP10, 12 MXP16
Max. energy absorption J 0.98 2.94
Stroke absorption mm 5 6
Max. collision speed mm/s 50 to 500
Max. operating frequency cycles/min 80 80
Max. allowable thrust N 245 245
Ambient temperature range °C —10 to 60
Spring force N Extended 1.96 1.96
Compressed 3.83 4.22
Weight g 15 15

Minimum Strokes for Auto Switch Mounting

(mm)

Number of Applicable auto switch models
auto switches D-FOIW, D-FCIWV
mounted D-A9C], D-A9CIV D-F9[], D-FOCIV D-FOBA
1 pc. 5 5 5
2 pcs. 10 5 10
. ) 2
FPOWIER

© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

POWER
O AlrRE

Series MXP

Table Deflection

ORDER
ONLINE

Table displacement due to pitch moment load
Displacement at "A" when load is applied at "F"

-

Table displacement due to yaw moment load
Displacement at "A" when load is applied at "F"

A

|

T

/]
il

L

=l

——— |

Table displacement due to roll moment load
Displacement at "A" when load is applied at "F"

A

© AdRE

26 L-gomm | @0 L=somm | @6 L = 80mm
MXP 65 MXP 6-10 j MXP 6-5 MXP 6-10 j \ \
0.05 MXPJ6-5 MXPJ6-10 — | ! 0.04 MXPJ6-5 MXPJ6-10—T] ! 0.06 MXP 6-5 ———MXP 6-10 +
. e e MXPJ6-5 MXPJ6-10
£ 0.04 / | €003 L | £00° / /’
g /) |5 4 - |5004 =
£ 0.03 7 £ / - N
[0} [} [}
2 / . | 8002 i | 8003 v
S 0.02 V4 bla / / - P
K] . K] . 0 0.02
3 // | 5001 / LS / e
20,01 Pole Do y
a bl s P | s 001
© © ©
= I Lo
0 10 20 30 40] 0 10 20 30 20| 0 10 20 30 40 50
Load N : Load N : Load N
210 L=100mm | @10 L=100mm | @10 L = 100mm
\ \ : \ [ :
0.04 | | ‘ 0.03 ’—MXPlO-lO——MX P10-20—— ! 0.08
MXP10-10 MXP10-20 ; ¥ ;
S 4 = = MXP10-10 MXP10-20
£ 0.03 / za | £ / - | Eo0s
‘ 0.02 :
% / // ‘ % d ; % //
$o02 / 18 / - [ 8ooa 7
& & L&
3 ) 1| 5001 A iy
S 0.01 . | g o002 -
Qo ' Q ' Q
T ' © [
= . e
0 ; 0 1 0
20 40 60 80| | 20 40 60 8o i 20 40 60 80 100
Load N i Load N ; Load N
212 L=100mm | @12 L=100mm | @12 L = 100mm
' ‘ ' [ [
0.05 _MXPl‘2:15 —MXP12:257 i | 004 ——MXP12:15 MXP12:25- | | 0.08 MXE12:15__MXE12:25
£ / Ple L le
0.04 ‘
E / . | Eo.03 / > . | Eo.06 /
c ' c ' c
£ 0.03 Polg / / P e //
8 / / [ €002 - | 8004
2 0.02 - bla Pla
2 / / - S - )
20,01 P | 2001 D] ©0.02
Qo N ' Q ' Q
T ' ] ' ©
= N A
0 50 100 150| | 0 50 100 150 | 0 50 100 150 200
Load N ' Load N ' Load N
716 L=120mm | @16 L=120mm @ @16 L = 120mm
‘ ‘ T
‘ \ \ [ ] MXP16-20 MXP1630
0.08 ‘ 0.06 = = : 0.12
_ V1600 vp163D | || MXP16-20 MXP16-30 . ) ‘
E 0.06 | E / // . | €010 / /
5 1| §0.04 . | 0.08 4
5 0.04 ’ | & B / /
kR / Dl 8 . | §0.06 1
=% ' [=% P ' [=%
2 000 / b 20.02 / | 2004 / »
2 S P2 0.02 /
S ! © H ©
= N A
0 50 100 150 200 250| | 0 50 100 150 200 250| | 0 100 200 300 400 500
Load N ' Load N ' Load N
3 _ )
POV IEIR


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

POWER
O AlrRE

Precision Air Slide Table Series MXP

ORDER
ORNLINE

Table Accuracy

Clean Series: Precision Air Slide Table

Traveling parallelism \l

Surface D to surface B

| Surface C
to surface A
| \ /
eﬁ_:;‘%

This is the amount of deflection on a dial gauge
when the guide block travels a full stroke with
the body secured on a reference base surface.

With shock absorber

11-MXP|Cylinder bore|-| Stroke | | Adjuster option |

Clean series Vacuum type

11-MXPJ6-

Clean series Vacuum type

This type has a relief port provided in the side of the body, and the spread of
particulates into a clean room is prevented by vacuum suction of the linear
guide section and the piston section.

Specifications

(mm)
Model Mxp\]ﬁ‘ MXP6 ‘ MXP10‘MXP12‘MXP16 Model 11-MXPJ6|11-MXP10 |11-MXP12|11-MXP16
) Surface C to surface A 0.02 Cylinder bore size (mm) 26 210 712 216
Parallelism
Surface D to surface B 0.02 Port size M3 x 0.5 M5 x 0.8
Traveling Surface C to surface A 0.004 Fluid Air
parallelism -
Surface D to surface B 0.004 Action Double acting
M dimension tolerance +0.05 .
Operating pressure 0.15 to 0.7MPa
W dimension tolerance +0.05 Ambi
mbient and _10t0 60°C
Non-rotating accuracy fluid temperature
T Operating speed range 30 to 200mm/s
Radial internal clearance i Rubber bumper (rubber stopper)
4 Rubber . :
Cushion Rubber bumper (without adjuster
Radial internal clearance bumper per ( ) )
- None (metal stopper)
Lubrication Non-lube
Fixed body Stroke length tolerance 1 mm
Model MXPJ6| MXP6 [MXP10|MXP12| MXP16 Note) Not available with shock absorber.
Radial internal clearance (Lim) +2 +2 +3 +5 +7
Table non-rotating accuracy (deg)| +0.03 | +0.03 | +0.03 | £0.04 | +0.04 11-MXP10, 12, 16 11-MXPJ6

Option Specifications

Auto switch mounting rail assembly
Used to mount auto switches on a precision air slide table (MXP-CIN)
which is not already equipped with switch mounting rails.
Dimensions

2-M2 x 3

(Round head Phillips screw
for precision equipment )

2-M2 x 3

(Counter sunk Phillips screw for
precision equipment)

@ & { |

2-M2 x 5 (hexagon socket head screw)

2-M3 x 8 (hexagon socket head screw)

MXP10, 12, 16 MXP6

Applicable size Switch rail model Note

MXP 6- 5

MXP 8-10 MXP-AD 6- 5

MXP10-10 MXP-AD10-10

MXP10-20 MXP-AD10-20 With magnet and

MXP12-15 MXP-AD12-15 mounting screws

MXP12-25 MXP-AD12-25

MXP16-20 MXP-AD10-20

MXP16-30 MXP-AD12-25

Note) MXP16-20 is the same as MXP10-20.
MXP16-30 is the same as MXP12-25.

Stroke adjuster

Rubber stopper

Metal stopper Selectable
Without stroke adjuster

6\&&\0
Cover installed in end cap section
o
o
11-MXP - "h
N "_
S ke
4

FPOWER
© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

Series MXP

Construction

POWER
O AlrRE

ORDER
ONLINE

MXP6
K 7} 19 (@
\|/
™
. L =l H
o /““Tf \
\Y é @ @
Parts list Parts list
No. Description Material Note No. Description Material Note
1 | Body Stainless steel Heat treated 13 | O-ring NBR
2 | Table Stainless steel Heat treated 14 | O-ring NBR
3 | Cover Resin 15 | Piston seal NBR
4 | End plate Aluminum alloy Hard anodized 16 | End cap Brass Electroless nickel plated
5 | Return guide Resin . Carbon steel (rubber stopper) Nickel plated
6 Scraper Stainless steel, NBR 17 | Adjustment bolt SUS304 (metal stopper)
7 | Piston Brass Electroless nickel plated 18 | Adjustment nut Carbon steel Nickel plated
8 | Joint shaft Carbon steel Electroless nickel plated 19 | Adjustment bumper Polyurethane
9 | End cap Brass Electroless nickel plated 20 | Switch rail Aluminum alloy Hard anodized
10 | Rod bumper Polyurethane 21 | Magnet Rare earth
11 | Steel ball High carbon chromium bearing steel 22 | Magnet holder Steel Nickel plated
12 | Plug Brass Electroless nickel plated
Replacement parts: Seal kit
Cylinder bore size (mm) Kit no. Content
6 MXP6-PS  |Above nos. 13 & 15 (2 pcs. ea.), 14 (1 set)
MXPJ6 Parts list
No. Description Material Note
1 Body Stainless steel Heat treated
2 Table Stainless steel Heat treated
@ @ @ @ @ @ @ @ 3 Cover Resin
\ \ \ ‘ 4 Return guide Resin
t 5 Scraper Stainless steel, NBR
% | é E I 6 Piston Brass Electroless nickel plated
| — 7 Joint shaft Carbon steel Electroless nickel plated
| 8 End cap Brass Electroless nickel plated
@WWF 9 Rod bumper Polyurethane
10 Steel ball High carbon chromium bearing steel
@ 11 Plug Brass Electroless nickel plated
12 | O-ring NBR
13 | Piston seal NBR

Replacement parts: Seal kit

Cylinder bore size (mm)

Kit no. Content

6 MXPJ6-PS

Above nos. 12 & 13 (2 sets) ea.

FPOWER
© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

ORDER POWER
ONLINE O AlRE
Precision Air Slide Table Series M X P
MXP10, 12, 16
@ D@ CT) /@ iD a3
/
+ i h 1 =3
: =
e N
= - 3
] : |
/ ’ \\ \—L«\‘I\I‘k—l—!
® @ @ @/ @g g \@
Parts list Parts list

No. Description Material Note No. Description Material Note

1 | Body Stainless steel Heat treated 11 | Orifice Brass Electroless nickel plated
2 Guide block Stainless steel Heat treated 12 | Steel ball High carbon chromium bearing steel

3 End plate Aluminum alloy Hard anodized ) Carbon steel (rubber stopper) Nickel plated

- 13 | Adjustment bolt

4 Cover Resin SUS304 (metal stopper)

5 Return guide Resin 14 | Adjustment nut Carbon steel Nickel plated

6 | Scraper Stainless steel, NBR 15 | Plug Brass Electroless nickel plated
7 | Tube Brass Electroless nickel plated 16 | Switch rail Aluminum alloy Hard anodized

8 Joint pipe Stainless steel 17 | Magnet Rare earth

9 | Joint shaft Stainless steel 18 | Magnet holder Steel Electroless nickel plated
10 | Adjustment bumper Polyurethane 19 | Piston seal NBR

Replacement parts: Seal kits

Cylinder bore size (mm) Kit no. Content
10 MXP10-PS
12 MXP12-PS No. 19 above (2 sets)
16 MXP16-PS

FOWER

© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

FOWVYER ORDER
O AlrRE ONLINE

Series MXP
l
Dimensions MXPJ6 ||

4-M3x 05 depth 3

7
5 H - % RE E]
ki
o % _ TN e i 9
™, - | @ W\:‘j —?: F o
: 3 - : 2 2 9| ]
= PR N o o—E
H— Y _AY = %
©
6 6 F 5
2-M4 x 0.7 135 Piping port
Prepared hole dia. 3.3 17 005 2-M3x 0.5
- (Plug: M-3P)
@—Mounting reference planes
Stroke: S ‘ M 1
[Te}
J
2.4 Z Piping port
2-M3 x 0.5
(mm)
Model E H J M S z MXPJ6- 5 ---------- SMXPJ6, #1
MXPJ6-10 ---------- SMXPJ6, #2
MXPJ6-5 | 25 | 38 | 27 | a7 5 | 44 CAD
MXPJ6-10 35 53 42 47 10 59
POWER

© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

ORDER FOWVYER
ORNLINE O AlrRE

Precision Air Slide Table Series MXP

l
Dimensions MXP6 ||

ﬂ T [ B
]
]
‘ o Piping port 2-M3 x 0.5
(Plug: M-3P)
42 AA
7
2.3 11.2 H 4 3
1
8
[Te} o
o = - I TTT
o= & =

AN e - 3
10 < ﬁ
o @ A sl @ {U } = ® [ =]

o 43 ¢ =

[ X

©
5. = ' 2] Width
Width across flats 6 135 across flats 2
2-M4x 0.7 -
Prepared hole dia. 3.3 4-M3 x 0.5 depth 3 17 +0.05
Stroke: S @— Mounting reference planes

M4 x 0.7

Without magnet and switch rail |

o> Bee |
= e —
58 Of

For rail mounting |

© A
o[ ¢
1]

J 3
2.4 Z Max. 9.5 (rubber stopper)
Max. 10.5 (metal stopper)
Piping port
2-M3 x 0.5
| o~
!
2-M2 x 0.4 depth 2.2 / 12
!
|
() Bl © I
Model F H J M S z AA I
| 2-M2 x 0.4 depth 3 12
MXP6- 5 25 38 335 37 5 45 2 For magnet mounting
MXP6-10 35 53 48.5 47 10 60 9.5 ’
POWER

© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

FOWER ORDER
O AlRE ONLINE

Series MXP
Fl‘
Dimensions MXPlO
2-M3 x 0.5 depth 3

2-M3 x 0.5 depth 5 v / With metal stopper
K
!
!
[T
=% 9| T 1 [ o] I
7 |
O |
< 1 | O © B
G Max. 5.5
Max. 3.5 M N 20 |
i‘ I
Stroke: S
MXP10-10
Width A iBi
across flats 1.5 Width across flats 5 - Piping port
13 H 2-M5x 0.8
16.7 M3 x 0.5 6.5 (Plug: M-5P) 7
& \ 9 s I 5oy D)
NS | i
] | by IS
i -@ J ‘ Adray ‘@'
® =Y R
\UA
0.5 L 19 4-M4AX0.7 1A 15 4-M3 x 0.5 depth 4
20 +0.05 Prepared hole dia. 3.3 W
@ Lz Piping port
(= 2-M5x 0.8
8 s OF &
I i -
e & :
‘ ﬁﬁ J
15|
95 | 10 @ — Mounting reference planes
Section AA | - - - - -
! MXP10-20
Without magnet and switch rail —r AL
e
2:M3 x 0.5 depth 3.5 8  2.M2x0.4depth3 L ‘
| For rail mounting / For magnet mounting | 5} <> _;é;
! — I e ¢ (I ; — et
Bl b A4 B = | ‘
™~ 1
{”} A% TR : @E < 6-M3 x 0.5 depth 4
@ @ & & 5 dep 15 15
L
_ o o —_— —_—— —d

(mm)

MXP10-10 --- SMXP10#1 (1 + #3)

Model G H J K L M N S v w z Ll
MXP10-20 --- SMXP10#2 (#2 + #4)
MXP10-10 8 32 | 524 | 20 20 21 | 65 | 10 44 | 40 | 60

MXP10-20 20 50 82.4 36 36 39 7.5 20 74 65 90

FPOWER
© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

ORDER
ORNLINE

Dimensions

POWER
O AlrRE

Precision Air Slide Table Series MXP

MXP 10/With Shock Absorber

3 Z
2-M3 x 0.5 depth 5 V
K
Te)
1 1Y O
i B I il 1] B B _":|
M N
Max. 19 /Stroke: S
MXP10-10B
A Width across flats 12
H M8 x 1 12.5
53 14.4 6.5 MA 40.8 7.
— | Il /
= q { 0 — @
@ 1QIe. o = )
) - : o N
N o ~ N
@ e <k é
t J — I}ﬂm:-é =
s ] :
o]
05 19 4-M4 x0.7 ‘é'l 15 4-M3 x 0.5 depth 4 Piping port
20 £0.05 Prepared hole dia. 3.3 w 2-M5x0.8  \
(Plug: M-5P)
® Piping port
2 1 5 12 H_!
EI B W
o
e > & -
6 J
9.5 || 10
Section AA @ — Mounting reference planes | - = - _
! MXP10-20B
- - - - - - Max. 5
Without magnet and switch rail | -
| 2-M3 x 0.5 depth 3.5 8 2M2x04depth3 . - 1 - :ﬂj»
‘ For rail mounting For magnet mounting o — o l@;’ —
/ i I

o 3-
104

O ey
eVe Dy T | *H | s @l |
~ L | _‘
| p 6-M3 x 0.5 depth 4 15 15
|
L — —_ _ R —_ —J
(mm)
Model H J K L M MA N S v W Z
MXP10-10B | 32 | 524 | 20 20 21 6 | 65 10 44 40 60
MXP10-20B | 50 | 824 | 36 36 39 18 | 75 | 20 74 65 90
_ . 10
FOYY ER

© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

FOWER ORDER
O AlRE ONLINE

Series MXP
|
Dimensions MXP12

2-M4 x 0.7 depth 6

2-M3x0.5depth4 | — F -

N z [ With metal stopper
v/
. ‘
|
o 5 54 ] Lne el f
. | | e © @
e . Max.4
Max. 3 M 7.5

20
Stroke: S\ I

MXP12-15
Width .

across flats 2 Width across flats 6 A Piping port

M4 x 0.7 14 H 2-M5x0.8
18.2 85 (Plug: M-5P) 8
SN T S B

A <

®

@4

]

4-M5x 0.8 A 20
Prepared hole dia. 4.2 W

| °Ce @ éﬁ?{
T

15 19 ‘
1

4-M4 x 0.7 depth 4.5

0.5 +0.05

3
32
|

| | | J
5
9.5 12 @— Mounting reference planes
Section AA - MXPilg - T
Without magnet and switch rail "
‘ ? o o o m |
‘ 2-M3 x 0.5 depth 3.5 2-M2 x 0.4 depth 3 ! F rL !
For rail mounting <§_ For magnet mounting
o O e
~ |
0 O % RO o 20 20
@{D@ T T% o H o 6-M4 x 0.7 depth 4.5
— — I
| L | | |
| . ‘
(mm)
Model G H J K L M s v w Z Bl MXxP12-15 --- SMXP12, #1 (#1 + #3)
= H MXP12-25 --- SMXP12, #2 (#2 + #4)

MXP12-15 10 40 68 22 24 29 15 59 55 76
MXP12-25 30 60 98 40 42 49 25 89 75 106

11
POWER
O AlRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

ORDER
ORNLINE

POWER
O AlrRE

Precision Air Slide Table Series MXP

Dimensions MXPlZ/\Nith Shock Absorber

2-M4 x 0.7 depth 6

3 Z
\
K
o - -
== =
| | ]
Max. 15 M 7.5
/ Stroke: S
MXP12-15B
A Width across flats 12
H M8 x 1 14.3
7.1 14.4 8.5 MA 40.8 8
A —
:L i - . _
> S olFe © & ° o
g 1 e
@ _—If' & 3
2] iz
15 19 | 4-M5x 0.8 54 20 Piping port
22 4005 Prepared hole dia. 4.2 W 4-M4 x 0.7 depth 4.5 2-M5x 0.8\
(Plug: M-5P)
: @@
© Operating port
2-M5 x 0.8
-x T— e
g KD e B
3] N H
: e o 2]
| J
95| 12 @— Mounting reference planes
Section AA
| __ __ __
| MXP12-25B
[
- —
Without magnet and switch rail ! ——H=- EE}
| (RLe o @
2-M3x 0.5 depth 3.5 2-M2 x 0.4 depth 3 ]
: For rail mounting <§’ / For magnet mounting - :
— Y ‘ - L o
fo T A T [ e ‘
@ 1© 3 B QT w
@{[]}@ TS ol H o 6-M4 x 0.7 depth 4.5 20 20
L [
(mm)
Model H J K L M MA S \% W 4
MXP12-15B 40 68 22 24 29 9 15 59 55 76
MXP12-25B 60 98 40 42 49 29 25 89 75 106

FPOWER
© AdRE

12


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

roOWwWER ORDER
O AlrRE ONILINE
Series MXP
Fl‘
Dimensions MXP16
3 Z - = _¥ ‘
v With metal stopper :
2M5x08depth 8 _ | "

© El |—E—|w |—:—| !

Oh

—
o HTEP 4 =8 o o
G ) Max. 4 |
Max. 4 M 11 pe |
\m 2-M4 x 0.7 depth 6 |
|
MXP16-20
Width Piping port
across flats 3 Width across flats 8 A
17 7 H
26.7 M6 X 1 (Plug: M-5P) 11
10.5
—F Ly | | 3 T
& 9 P 1@ Lo &
Ln. — —
$ @ 3
== 4

3 [# —O] e s @

65 J_L 4-M6x 1 Al 30 o

. Prepared hole dia. 5.1 W 4-M5 x 0.8 depth 7

32 +0.05

|7

rﬂ
! [e¢]
0.5 +0.05

Piping port
- i 2-M5x 0.8
X - —
AN
NN R 4
o oI @ ® 7 |9
ais] )
145 || 16.5 @— Mounting reference planes
Section AA o . ]
MXP16-30
y - - 1
o . . |
Without magnet and switch rail ! — N
55 o o %
2-M3 x 0.5 depth 3.5 2-M2 x 0.4 depth 3 I :
For rail mounting [_5_3, For magnet mounting
| ] —m ] T
3 1 L4 - o & &
— i 10
oo | srier=t Tt als]
= 6-M5 x 0.8 depth 7
L I
|
L _ h I N _ _ |
(mm)

Model G H 3 K L M s v | w | z HR MxP16-20 - SMXP16, #1(#1 + #3)
MXP16-20 | 18 | 58 | 93 | 40 | 36 | 40 | 20 g2 | 65 | 102 bj)  MXP16-30 ==~ SMXPI6, #2(#2 + #4)
MXP16-30 28 70 119 50 42 56 30 108 75 128

13 N
FOWER

© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.pneuaire.com

ORDER
ORNLINE

O AlRrE
Precision Air Slide Table Series MXP

Dimensions MXP16/\Nith Shock Absorber

2-M5 x 0.8 depth 8

3 z
V
K
ol H : L o
|
- N 1 -
I W |
Max. 15 1 M 11
Stroke: S /
MXP16-20B )
A Width across flats 12
- H M8 x 1 243
17.1 144 10.5 MA 40.8
11
2] = - 5
) - - _,_II_ W
e e %
T Nl il ~
@ | a7 R @
s -
& B I 1 g3
| i~ &
@ L _@_ Cpin
=
6.5 19 | 4-M6 x 1 Al L 30 Operating port
32 +005 Prepared hole dia. 5.1 W 4-M5 x 0.8 depth 7 @
' A (Plug: M-5P)
%
5 Pl @ ® o
J Operating port
2-M5 x 0.8
145 || 165 @—Mounting reference planes
Section AA - - - I
MXP16-30B
y - - 1
Without magnet and switch rail } } ——
Ral13 X 0.5 cTHgRgs g  2-M2x04depth3 @ o O &
For rail mounting [‘* For magnet mounting S
| —] ] y
‘ ] P F Ry s @
_ﬂl}_ _@ 7 B Fcy j @H £ | | — I I
CANECEE == i L | |
= 6-M5 x 0.8 depth 7 20 20
L I
[
L _ . R — _ _ |
(mm)
Model H J K L M MA S \% W VA
MXP16-20B 58 93 40 36 40 30 20 82 65 102
MXP16-30B 70 119 50 42 56 46 30 108 75 128
_ . 14
POWER

© AdRE


http://www.poweraire.com
http://www.poweraire.com
http://www.pneuaire.com
http://www.pneuaire.com
http://www.coastpneumatics.com/americansmc/MXP/2_MXP_Series_Air_Slide_Tables_Auto_Switches.pdf
http://www.coastpneumatics.com/americansmc/MXP/2_MXP_Series_Air_Slide_Tables_Auto_Switches.pdf



